[ Efficiency vs vertpos |

~0.05
9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015
0.04
0.005

&

b

4
&
4

S AN LA RN LA LS LLLRN AR LARRN LELLE RRRA

1.0

Ratio

0.95
1072

—a— DUJIVITITRE] T
—e— DOM”mMKFEIt_TT_NEW; eFau t specPLessl
— —— DOM”mKFEIt_TT_NEWdefau|t_specPLess2
Efficienq —— DOM”mKEIt"TT"NEW e;au t~specPless3
—— DOM_mKFIt_TT_NEWdetault_specPLess

~ 0.02p
g 018F
016F
014F
012F
0.01F
0.008F
0.006F
0.004F
0.002

EHHCIRRCY S 8T

Ratio

9535

[ Efficiency vs. sim PV z |

10 20 30
TP vert z (cm)

~ 0.05
>
80.045
=
=0.04
%.035
ey
20.03
@
8.025
(]

0.02
0.015

0.01

0.005

......................

......................

I AR R 5K
S S S A H
R foeenden dooe

L' .

i

fa
o +W
=
©
| SRR - E - GRS A
I . - a

095215210 -5

5 10 15 20
Sim. PV z (cm)

0




	Contents
	Page 1


